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INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT THIS TEST BOOKLET DOES NOT HAVE
ANY UNPRINTED OR TORN OR MISSING PAGES, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

candidate, one third (-0.33 %) of the marks assigned to that question

2. This Test Booklet contain 100 questions. Each question comprises four responses (answers). You will need to select the response which you want to
mark on the OMR Sheet. In any case, choose ONLY ONE response for each question. More than one response will be treated as wrong answer.
You have to mark all your responses ONLY on the separate OMR Sheet provided.
All questions carry equal marks. (2 Marks Each)

5. For each question for which a wrong answer has been given by the
will be deducted as penalty. There will be no penalty for a question which is left blank.

6.  While writing Name and Roll No. on the top of the OMR Sheet in appropriate boxes use “ONLY BLACK BALL POINT PEN".

After you have completed filling in all your responses you should handover the OMR Sheet to the invigilator. You are permitted to take away the Test
Booklet.
DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO|

1.In respect of the difference of the gravitational force from electric
and magnetic forces, which one of the following statement is true?
(a) Gravitational force is stronger than the other two.
(b) Gravitational force is attractive only, whereas the electric and
the magnetic forces are attractive as well as repulsive.
(c) Gravitational force has a very short range.
(d) Gravitational force is a long range force, while the other two
are short range forces.
2_A wire-bound standard resistor uses manganin or constantane.
It is because:
(a) These alloys are cheap and easily available
(b) They have high resistivity
(c) They have low resistivity
(d) They have resistivity which almost remains unchanged with
temperature
3.Electricity is produced through dry cell from:
(a) Chemical energy
(b) Thermal energy
(c) Mechanical energy
(d) Nuclear energy
4.Generally airplanes and jets fly in the stratosphere or upper
troposphere. What could be the possible reasons behind it?

1. The amount of air turbulence that flights experience is

very less in this region.

2. Vertical flow of winds is less in this region.

3. More stability of the plane as wind speed is very low.
Select the correct answer using the codes given below.
(a) 1 and 2 only
(b) 1 and 3 only
(c) 2 and 3 only
(d)1,2and 3
5.The spleen is an organ that performs several functions related to
the health of your blood. Which of the following is/are correct
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about it?
1. It filters out and destroys old red blood cells.
2. It manufactures some of the white blood cells.
3. It can manufacture new red blood cells.
Select the correct answer using the codes given below.

FI GATIT HIAT &1 3TF TFaey F Aeafai@d J ¥ Sia-ard 97

882
1. IF QA AT T HHASI T BT I A HAT 8
2. ug%éawaﬁﬁamﬁﬁﬁwa:rﬁnﬁwm%l
3. Ig A ATt Tod FITARIIT ST fAHTOT e &

(a) 1 and 2 only AT fT TV e T yATeT I HET IR GAT
(b) 2 and 3 only (a) Faa 132

(c) 1 and 3 only (b) haer 2 3R 3

(d) 1, 2 and 3 only (c) shaer 133

6.Lithium is the most prominently used metal in mobile phone (d) aer 1,23k 3

batteries. Which among the following could be the reasons for the
same?

6.7 AaTge BT FHr SRt 7 FaTfte w=ater & & Se arer
g &1 AEafEd & & Hler-a1 58 o1 1 HROT 8T Fehll §72

1. High energy density 1. 3Td Sl "gelcd
2. Relatively low self-discharge 2. 39efTed foe doh-fEEars
3. Cheaper to manufacture 3. faeToT S 39T FET
4. Low Maintenance 4. TE@IEE H 3’ed
Select the correct answer using the code given below. AT feT 97T e T YT T FEY IR AT
(a) 1,2 and 4 only (a) Faa 1,2 31X 4
(b) 1, 2 and 3 only (b) Haer 1,2 3R 3
(c) 2, 3and 4 only (c) dae 2, 334
(d)1,2,3and 4 (d) 1,2,33R4

7.Which of the following is/are incorrect regarding Graphene?
1. Itis used in making strong and durable touch-screens for
smartphones.
2. It can be used as a superb conductor of electricity but not
heat.
3. As a catalyst it is immune to oxidative environments.
Select the correct answer using the code given below.
(a) 2 and 3 only
(b) 1 and 3 only
(c) 1 only
(d)1,2and 3
8.The label of the food products sometimes has "PROCESSED
BY IRRADIATION METHOD". Which of the following is/are correct
regarding irradiation?
1. Itis used to pasteurize and sterilize foods.
2. It doesn"t cause change in freshness and texture of food
unlike heat.
3. X-rays can be used for irradiation process.
Select the correct answer using the code given below.
(a) 1 and 2 only
(b) 1 and 3 only
(c) 2 and 3 only
(d)1,2and 3
9.Which of the following fibres are secreted by connective tissue
cells?
1. Collagen fibres
2. Reticular fibres
3. Elastic fibres
4. Chondrocytes
Select the correct answer from the codes given below.
(a) 1,2 and 3 only
(b) 2, 3 and 4 only
(c) 1 and 4 only
(d)1,2,3and 4
10.The term "Polar" in Polar Satellite Launch Vehicle (PSLV)
signifies that
(a) the PSLV satellite orbits based on the position of pole star.
(b) the PSLV satellite orbits the earth from pole-to-pole.
(c) PSLV satellite is launched from North pole because of low air

7.7 ATTRT H T PIA-T1/H AR & FFIYT H 30T 8/87?
1. SHR YN TATE BT & [T AT T ez ca-whiet
ATeT & TorT e Srar &
2. sﬁmaawiwﬁaﬁrﬁﬁmaa?m
W&:mﬁm%mmm
3. wmasmmgmwmwm@

T &
mﬁmmmwmmmﬁmaﬁm
(a) Fae2 3 3
(b) Saer 133
(c) haeT 1
(d) 1,23R3
smm$mﬁwﬁ$ﬁ“ﬁw1ﬁﬁaﬁmmw
forgr giar ¥ fafemor 3Tar (S¥Eere) & day & Sefaf@a § &
aﬁﬁﬁaw?ra%’r%?
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forT uer fhar STrar & .
2. IE A & A S @ areeh AR dues 7 aRade
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oot wfehaT & foIT Targ-Y &1 3UANET fohaT ST TehdT &1
mﬁﬁvmwwmmmﬁmaﬁm
(a) Faer 13 2
(b) Saer 133
(c) daar 2 3R 3
(d) 1,233
Qﬁmﬁﬁamﬁﬁﬁﬁaﬁmmmﬁmﬁm
Fifddgag?
Ao o]
aﬁmag
AER

]

rPobd=

FlegraScH
mﬁmmmwmmmﬁmaﬁm
(a) Faer1, 23X 3
(b) Faer2, 3314
(c) Faer 1 3R 4
(d) 1,2, 334
1ommgqﬁmm(¢rwwa)ﬁ"m eE I &
(a) YT ar $T ATy W 3mnRa O.vw.ver. 8, 39erg &1 e
(b) FreHTCTET 3UIIE GIRT YI-B-41 e J2al T TR oI
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resistance.
(d) PSLYV satellites use Polaroids for remote sensing and image
capture.
11.In the context of modern scientific research, consider the
following statements about 'LISA Pathfinder', a spacecraft which
was often in news:
1. Its objective is to detect the dark matter.
2. ltis placed in space because Earth’s gravity may hamper
the test results.
Which of the statements given above is/are correct?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
12.Which of the following definitely indicates a chemical change?
1. Change in state
2. Change in colour
3. Evolution of a gas
4. Change in temperature
Select the correct answer using the code given below.
(a) 1 and 3 only
(b) 2 only
(c)1,2,3and 4
(d) None
13.Consider the following properties of Carbon Nanofibers:
1. Graphene layers are used in Carbon Nanofibres.
2. Carbon dioxide (CO(b) can be used to make Nanofibres
3. They are used in electronic components and batteries.
Which of the statements given above is/are correct?
(a) 1 only
(b) 1 and 3 only
(c) 2 and 3 only
(d)1,2and 3
14.Transistor is used to
(a) amplify or switch electronic signals and electrical power
(b) regulate the fluctuation of voltage
(c) convert direct current to alternate current
(d) reduce the resistance in an electrical circuit
15.Rainbows are shaped as arcs and not straight line because:
(a) the earth is round and not flat.
(b) of the illusion in our eyes; in reality it is a straight line.
(c) there is a set of points in the sky where the sun, the cloud and
eye form the same angle.
(d) water droplets are conical in shape.
16.Consider the following statements:
1. Along summer night with clear skies and still air is ideal
for temperature inversion.
2. Gravitational force plays a major role for temperature
inversion to occur in hilly and mountaneous areas.
Which of the statement given above is/are correct?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
17.Match List | with List Il and select the correct answer using the
code given below the lists:

List | List I
(Optical (Effect)
phenomen(a)

(c) g & e AN & FHROT N 0H. Tl Y. 3IIE T 37 Ya &
TeYRIG T ST &1
(d) 9r.TH.TA.AY. 39T e Haeat AR FT ot o forw diertssa &t
3TN HA g1
11,31k ST HTHETST o Hesl H, R FHTIRT H o arel
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FUAT R AR
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2. wmﬁﬂﬁwmw%mﬁwww
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1. Diffraction A. Blue color of sky
2. Total Internal B. Splitting of white light
Reflection into a rainbow pattern.

3. Scattering C. Sparkles in diamond

4. Dispersion D. Rainbow pattern we
see when looking at a CD

or DVD

(d) 1-B, 2- C 3- A 4-D
18.Consider the following statements:

1. The difference between a nuclear reactor and a nuclear
bomb lies in the growth rate of electrons that are
produced.

2. The underlying principle behind energy production in a
hydrogen bomb and in the sun is same.

Which of the statements given above is/are not correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
19.The term "biosimilar"
context of

(a) twin children of same sex.

(b) naturally occurring organisms to neutralize pollutants.
(c) a type of pesticide derived from natural material.

(d) impersonations of drugs.

20.Bharat Stage prescribes emission norms for which of the
following vehicular exhausts in India?

, sometimes seen in the news is in the

1. Lead
2. CO

3. NOx
4. Ozone

Select the correct answer using the code given below.
(a) 1 and 2 only
(b) 2 and 3 only
(c) 1,2 and 3 only
(d) 1, 3 and 4 only
21.The term Quantum Computer, often seen in the news is:
(a) a computer that works by mimicking the human brain
(b) a computer based on binary system
(c) a supercomputer capable of one billion calculations per second
(d) None
22.With reference to the Newton’s Law of Universal Gravitation,
consider the following statements:
1. It defines gravitational attraction which is a short range
force.
2. It predicts the existence of gravitational waves.
3. ltis a close approximation to the Einstein theory of
General Relativity.
Which of the statements given above is/are correct?
(a) 1 only
(b) 2 and 3 only
(c) 3 only
(d) 1 and 3 only
23.With reference to Bitcoins, consider the following statements:
1. Itis a digital currency, created and held electronically.
2. ltis mined using special softwares to solve mathematical

17520 | &1 & 1| & gafoa AT 3R 3R & few 1w e s e
T HEN I AT

Sl Gl

(SeRTTRYhY Te=) (311

1. [Jada A. 31THIRT ST AT o7

2. 01 TR B. The; JehTRr AT

RIgdsT SRt Ui 7
fqTesT (Splitting)

3. gehrote C. e} H S eTge

4. gReyqor D. @& a1 SIS qma
FHY ST gty
T §H @ &

(@) 1-D, 2-C, 3-A, 4-B

(b) 1-A, 2-C, 3-B, 4-D

(c) 1-D, 2-A, 3-C, 4-B

(d) 1-B, 2-C, 3-A, 4-D
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(a) Faer 1

(b) Faer 2
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(c)mwéﬁmﬁﬁwwwwtﬂwﬁu

(d) Ear3it & gfawaoT] ] .
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1. d@rar
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3. NOx

4. 37T

AT fT 1T FHe T YT Y HET 3R GAT

(a) Faar 1 3% 2

(b) Faer 2 3R 3

(c)&aer 1,2 3k 3

(d)Shaer 1,331 4

21,97 FATIRY Y et aTeT FATCH FY &

(a) Teh T HTIE ST HIAT FTSTH HT HeThT R F HT &
(b)mﬂﬁmme|

(c)‘jﬁigziéacvte;a_gr wmwmﬁﬂwwamm

(d) I

22.79¢ & FIAHA TocarnyvT @F# & Heedt F TeaAfaf@a wu=t
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1. ugmmwaﬁqﬁmﬁ?rm%sﬁwﬁmw arelt
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(a) Faa 1

(b) Faer 2 3R 3

(c) Fae 3
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problems.
3. BitMEX s the sole exchange for bitcoin trading.
4. Itis not tradeable at the spot market.
Which of the statements given above is/are correct?
(a) 1 and 2 only
(b) 2, 3 and 4 only
(c) 1,3 and 4 only
(d) 1,2,3and 4
24.Consider the following statements:
1. Dark Energy is a concept to explain the decelerated rate
of expansion of universe.
2. Dark matter is a concept to explain the ripples in
space-time.

3. Visible matter alone can"t explain the stability of universe.

Which of the statements given above is/are not correct?
(a) 1 and 2 only
(b) 2 only
(c) 1 and 3 only
(d) 2 and 3 only
25.Which of the following diseases can be transmitted by Aedes
Aegypti mosquito?
1. Zika virus disease
2. Dengue
3. Chikungunya
4. Hepatitis B
Select the correct answer using the codes given below.
(a) 1 only
(b) 1 and 2 only
(c) 1,2 and 3 only
(d) 2, 3 and 4 only
26.Which of the following most appropriately explains the fall in
boiling point of water at hills?
(a) Decreasing temperature as one move upwards decreases the
boiling points.
(b) Thinning of the atmosphere decreases the pressure, thus
decreasing the boiling points.
(c) Presence of less oxygen at the hills decreases the boiling
points of water and other liquids.
(d) None of the above
27.Which of the following plant hormones is not a growth
promoter?
(a) Auxins
(b) Gibberelins
(c) Abscisic acid (AB(a)
(d) Cytokinins
28.Consider the following pairs:
Parameter Sl Unit
1. Power : Joule

2. Electromotive Force : Volt

3. Weight : Newton

4. Frequency : Second

Which of the pairs given above is/are correctly matched?

(a) 1 and 4 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 2 and 4 only

29.Which of the following is known as the natural pacemaker of
the heart?

(a) Sinoatrial (S(a) Node

(d)haer 1 3R 3

23.f9caarsa & Tecst # rafafad syt X faar fifsw:

%@W%ﬁwm%msﬁﬁmwﬂmmﬁuﬁa
ST

2. 30 fIAY AIFCIIRT T T T ORI 92T gof et b foT

IR fFar ST 8

3. [9cAFd (BItMEX) faeaFarsst <amIR & folv TehATT TFadT gl

4. g TUfe AThe 7 IR fhT S & T =181 8

3UAF FUAT H T FIT-ar/T TEr g/8?

(a) Faer 131X 2

(b) Faer 2, 3 31T 4

(c)Faer 1,3 3R 4

(d)1,2,33R 4

24. Ffafad 2 ) R &

1. ST Uetoll He, 3T T gl aTel TEATS & TAEAR ahT SITEAT hlet T
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(a) Faer 1 3 2

(b) FaeT 2
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(d)haer 2 31k 3
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(a) Shael 1

(b) shaer 1 3R 2

(c)Faer 1,2 3R 3

(d) Faer 2, 3 31 4
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(a) AifFTsT

(b) TS foret
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(b) aer 233

(c) aer 13k 3

(d) aer 2 3R 4
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(b) Atrioventricular (AV) Node
(c) Right Atrium
(d) Bundle of His
30.A man with blood group AB positive marries a woman with
blood group A negative. If the blood group of the biological son is
A positive, which of the following cannot be the blood group of
their biological daughter?
(a) A positive
(b) O negative
(c) AB positive
(d) B positive
31.In a moving car, the wheels will skid if the brakes are applied
too suddenly. This is because:
(a) the inertia of car will carry it forward.
(b) the momentum of the car must be conserved.
(c) the kinetic energy of the car must be conserved.
(d) the total energy of the car must be conserved.
32.Consider the following statements:
1. Both electromagnetic and gravitational waves travel with
the speed of light.
2. Both electromagnetic and gravitational waves can create
ripples in space-time.
Which of the statements given above is/are correct?
(a) 1 only
(b) 2 only
(c) Both 1 and
(d) Neither 1 nor 2
33.With reference to the fourth stage of matter "Plasma", consider
the following statements:
1. Itis made of both positively and negatively charged
particles.
2. It does not have definite shape or volume like gas.
Which of the statements given above is/are correct?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
34.In Bhopal, accidental acute inhalation exposure to "Methyl
Isocyanate" resulted in thousands of deaths and lakh of people
suffering from adverse health effects. In this context, consider the
following statements about Methyl Isocyanate:
1. ltis a colourless, liquid at room temperature (27°C).
2. ltis used in the production of synthetic rubber and
adhesives.
3. In gaseous form it is heavier than air.
Which of the statements given above is/are correct?
(a) 1 only
(b) 1 and 2 only
(c) 2 and 3 only
(d)1,2and 3
35.Consider the following pairs:
Vitamin/Mineral Disease/Disorder

1. Vitamin B1 : Beriberi

2. Vitamin C : Scurvy

3. Iron : Goiter

4. Calcium : Loss of Vision

Which of the pairs given above is/are correctly matched?
(a) 1 and 2 only
(b) 2 and 4 only

(a) Fieifoig Imafy
(b) tfeie-forer amafer
(c)a'l'&THﬁE
(d) 5T 37w fow
30.AB uifSifea Yera Tog &1 U gy, A fdifea wod awg il v
ﬂﬁwﬁﬁmm%uuﬁmaﬁmwwwmmﬁﬁa
g Eﬁﬁmﬁ@aﬁﬁaﬁammﬁéﬁmﬁwmwaﬁrﬁ
AT §?
(a) AuifafeT
(b) O faaifea
(c) AB Tififea
(d) B urfaifea ,
31.3fe arfrelier SR # 37elTeten sk S@TT ATV A 9fgw hererdr) Tar
AT BT § Fifeh:
(@) R HI AScd U 313N of ST
(b) R & HAT AT T { TITEIA B9
(c) &R H AT Foft HiFAar ®7 & FaTT gty
(d) R F Tt FaT AT FT T TIFET 8190
32.fFrfafad s ) R i
1. WWW@,WWQT@?@#W
|
2. TacgagFashrg AR & o, gl feh-ahrel
(FTG-2TeH) F FTHP3T T AT X Tl &1
mﬁmmﬁﬁaﬁawﬁaﬁ%@?
(a)

(dysTar1, Tgr2
33,91 T DY 3/ETAT "TATTAT", & FegdT H RATAd YA W
Rrar A o ‘
1. g UeIlcHS T HUTcH, gl &I & AT ol &
GGG

2. S G HT e & AR 3Tepfct IT Il ET gl
mﬁmﬁﬁﬁawﬁm&‘r%ﬂ%’?
(a) Fae 1
(b) Faer 2
(c) 1 3R 2 g=At
(d)yaar1,T8r2
34.99TeT ATGT b THY "TAAS JSAASAC" & HTHhTHSD dld
3:Fa2r & IRUTATIEY goIRT SN T Heg g8 3R et wirer
Ufer TarEeT gHTat & DR gu &) 57 Tedt B s
HSHEGAT & TR & AT H2UeAT IR RraR Hife:
1. g FA & AT (27°C) W TF T kel 1
2. Ig RHARee &R 3R 3EsIeh (adhesives) & 3caTeet H JIIET
farar ST &
3. IMTTUAIFg A AR EIATR)
3R 8T 1T HUAT H T HIA-T1/T TET /82

(a) Faef 1

(b) haer 1 3R 2

(c) Faer 2 3T 3

(d)1,23R3
35.fFAfaf@d g7 ) faar fifa:
(CRIGGITCIGE R
1. @ & 1 EEICEU

2. Jafas & Thdt

3. g aca 3131}

4. oA . TReaw
Wmﬁﬁﬁﬂwﬁmﬁmﬁ#
(a) Faer1 3R 2
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(c) 1 and 3 only (b) Faer 2 3R 4
(d) 1, 2 and 3 only (c) dhaer 1 31X 3
36.Which of the following elements are utilised both by plants and | (d) &aer 1,2 31X 3

human body for their effective functioning?

Nitrogen

Potassium

Copper

Boron

Zinc

Molybdenum

Select the correct answer using the code given below.
(a) 2,3 and 5 only

oukrwh =

3em@mm¢%m¢$qm@@mmea
ﬁmﬁ@aﬁﬂﬁma—&rwmﬁmm%’?

ATSgIoTe
arefRH
GIEIl
CIRG)
STEar
AfdssasT

ok wN =

;ﬁﬁﬁamwa;rmawaﬁmaﬁm

(b) 1, 2 and 5 only (a) Faa 2, 33X 5
(c) 3, 4 and 6 only (b) Faer 1,2 31X 5
(d)1,2,3,4,5and 6 (c)Faar 3,436

37.With reference to the speed of sound waves, consider the
following statements:

1. It decreases from solid to gaseous state.

2. It depends on temperature of the medium.

(d)1,2,3,4, 536

7zaﬁavﬁaﬁr31ﬁ$aaafr# rAfaf@d sy« w faar fifaw:
1. Ig org ¥ A 3rgwam T 3R 5 gy SIar 81
2. g ATEYH & dI9HTT W T i &

Which of the statements given above is/are correct? IRed FUAT H T Hla-and Ty 28?2
(a) 1 only (a) Faer 1
(b) 2 only (b) Shder 2
(c) Both 1 and 2 (c) 1 3R 2 gt
(d) Neither 1 nor 2 (d)ysTdr1, 782
38.Consider the following diseases: 38.fIfai@d 9T R faar fifaw:
1. Malaria 1. FHeRAT
2. Amoebiasis 2. fafsafaw
3. Ascariasis 3. TEHAEd
4. Filariasis 4, rarfAfaa
Which of the following disease(s) is/are caused by Protozoan’s Pefaf@d & & ST T/ AT NSN3 WRidT F HROT 3o
parasite? gIaT/Ea 8/87
(a) 1 only (a) Fael 1
(b) 1 and 2 only (b) haer 1 31X 2
(c) 2, 3 and 4 only (c) haer 2, 3 3iX 4
(d) 1, 3and 4 only (d) aer 1, 3 3iX 4

39.Two machines with different horsepower implies that
1. Rate of work done is different.
2. Rate of energy consumed is different.
Which of the statements given above is/are correct?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
40.Consider the following statements:
1. Electromagnetic force is responsible for the stability of a
nucleus within an atom.
2. Weak nuclear force is responsible for beta decay.
3. Strong nuclear force is a short range force.
Which of the statements given above is/are correct?
(a) 1 only
(b) 2 and 3 only
(c) 1 and 3 only
)

(d)1,2and 3
41.Which among the following are present in the blood group AB?
1. Antibody A
2. Antibody B
3. Antigen A
4. Antigen B

Select the correct answer using the code given below.
(a) 1 and 2 only

39.7T =T g1y uTaR &1 Y #efie Ig gt & o
1. F I X R &
2. Fo @Ud $H e et
30T FUAT F T FlT-a7/8 TE 22
(a) Fae 1
(b) FaeT 2
(c) 1 3R 2 gt
(d)ysTar1,T€r2
40. 1T = R AR fifae:
1. IR H AT AT & v fdegd geaehrg oo
SFACR glaT 81
2. &for AR g YeT 87T & fov foFAeR gar &
3. Y AIFRT Tof o I Tl Bl 8
ITIFT FUAT H & PleT-AVY TET 2
(a) Faer 1
(b) Faer 2 31k 3
(c) haer 131X 3
(d)1,23k3
41WWABﬁﬁmﬁ@HﬁﬂwWM%?
1. THEETA
2. TWEEB
3. TISTA
4. UESAB
AT ST 91T e FHT JITT X LT 3] Hl I HIfAT:
(a) Faer 1 3R 2
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(b) 3 and 4 only
(c)1,2,3and 4
(d) None
42.Which of the following are used as performance enhancing
drugs and are also synthesised naturally in the body?
1. Erythropoietin (EPO)
2. Human growth hormone (hGH)
3. Testosterone
4. Insulin
Select the correct answer using the code given below.
(a) 1, 2 and 4 only
(b) 2 and 3 only
(c) 1 and 4 only
(d)1,2,3and 4
43.Consider the following statements regarding Human Genome
Project-write (HGP-write):
1. It seeks to build an artificial human genome with
sophisticated bioengineering tools.
2. Technologies developed through HGP-write will be
universally applicable to all organisms.
Which of the statements given above is/are correct?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
44 Name the Yojana approved by Cabinet committee on
Economic Affairs chaired by PM Modi to provide financial support
to integrated Bioethanol projects using lignocellulosic biomass and
other renewable feedstock?
(a) Rashtriya Swasthya Bima Yojana
(b) Pradhan Mantri Jan-Aushadhi Yojana
(c) Pradhan Mantri JI-VAN Yojana
(d) Rashtriya Krishi Vikas Yojana
45.Name the Exercise that was held in Tripura between India and
Bangladesh as a part of ‘Confidence Building Measures’?
(a) Mainamati Maitree Exercise 2019
(b) Nomadic Elephant | 2019
(c) Yudh Abhyas 2019
(d) Hand in Hand 11 2019
46.Name the Scheme,funded by the World Bank and the
Government of India,in order to strengthen the unorganised food
processing sector concentrated in rural areas?
(a) Gram Samridhi Yojana
(b) Pradhan Mantri Kaushal Vikas Yojna
(c) Pradhan Mantri Suraksha Bima Yojana
(d) Pradhan Mantri Jeevan Jyoti Bima Yojana
47.Under which of the following Act, Centre banned
Jamaat-e-Islami Jammu and Kashmir for next 5 years?
(a) Unlawful Activities (Preventions) Act, 1967
(b) Suppression of Immoral Traffic in Women and Girls Act,1956
(c) Terrorist and Disruptive Activities (Prevention) Act,1987
(d) Prevention of Damage of Public Property Act, 1984
48.UN court rejects UK’s claim of sovereignty over which of the
following Islands?
(a) Brownsea Island
(b) Canvey Island
(c) Chagos Islands
(d) Havergate Island
49.During Expo-cum Conference on Construction Technology
India 2019,Prime Minister Narendra Modi declared ‘April

(b) Faer 3 3K 4
(c) 1,2,33IR4
(d) FSAT - )
42 ATl 7 O haehr TedieT agret Y gaT (PRI Teg [oaaT
9T) & &Y # 3TN T ST & 3R 3 R & grehfcieh &7 4 8
HINd 8l 672

1. wRymsfea (EPO)

2. #=d gefe grHfe (hGH)

3. STENT

ggferT
;h%%tr?rtran—drﬂm X HET 3T AT
(a)Faa 1,2 3R 4
(b)WZ}ﬁT:&
(c) Faer 1 31K 4
(d)1,2,334
43,719 ST IRASTATIEE (HGP - write) & T&er H fAeaAfai@d
FUAT )[R fifaw:
1. Ig IRSHd SAa-HAAIHRT 3TN § Teh HIHA Aol
et T FHATOT @t agar ¥
2. HGP - write gaRT fasfad Hr 15 Wedifhr arasiffes v
Y |l Siat & forw ey gl
maamw@mwwﬁ%/gv
(a)
(b) el
(c)13ﬁ¢2aﬁa‘r
(dyTar1a7¢r2
44.5YUH HIEY ST 3TETLTAT H 3T ATHT ol AFHSAT AT
SANT AN ANSTAT B A1 T & it Fereaiae e faes e 3ik
ﬂmmwmmuﬁmmﬁvw
IRATSTAT3T T AT TeTdr Yere Her & v 87
(a) TSET TATELT STAT AT
(b) T SToT-3iw e Asrer
(c) wTeT FHAY Si-aeT Jretalr
(d) TSET Y Faehre roter
45W3ﬂwawaﬁerésehaﬁwﬁ ‘Fifewpeyg fafese Hia & v
9T & & 3 3T RRT 1T 39T T AT 27 2
(a) HAATEr FT 3797917 2019
(b) gH BT 2019
(c)ua%rmwzmg
2T 83112019
46mﬁm#é€ﬁﬁwﬁﬁmwmaﬁmm
%W%@a%wwwm%ﬁmﬁazﬂmﬂm

gq$T?

(a) TTH FHSTY ArST=T

(b) TTTFAY Fi2rer RHIT ATl

(c) TUTAFHAT FIETT AT AT

(d) TEITToET SHaet AT ST Frotel
47.afafaa & @ frg 3RFTE F agd, e o 3T 5 avf & faw
STAT-T-SEATHT o1 3R e oX wfdeer o feam?

(a) ﬂwa#rmﬁﬁﬁm(ﬂaum)mﬁw 1967

(b) AT 3R arforr faferae, 1956 # 3ifae TdrRTd T g7
(c)aﬂaﬁlﬁm%ﬂzﬂmwﬁﬁﬁm(mmm 1987
(d) Grdsifereh Hufer HTRATATH, 1984 & ThaTeT T AshuTH
4swwﬁmﬁﬁmﬁ@3ﬁﬁﬁmmwﬁéﬂﬁ
wma:aa‘afr@mm%mﬂ

(c
(d) %?m’lta-qﬁtr
49.TAHOT AN AT TR 2019 T TFEN-Fo FedeleT & SR,
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2019-March 2020’ as year?
(a) Year of Light and Light-Based Technologies
(b) Construction —Technology year
(c) Year of Sustainable Tourism for Development
(d) Year of Pulses
50.Yellow vests movement recently seen in news took place in
(a) United Kingdom
(b) France
(c) Germany
(d) Turkey
51.National Mission on Government eMarketplace (GeM) was
launched by
(a) Ministry of Finance
(b) Ministry of Consumer Affairs
(c) Ministry of Science and Technology
(d) Ministry of Commerce & Industry
52.‘Sampriti-2019’ is a joint military exercise between which of the
following countries?
(a) India and Bangladesh
(b) India and US
(c) India and Russia
(d) India and Singapore
53.NASA’s ICESat-2 mission aims to
(a) To explore the presence of ice on mars
(b) Mapping melting ice sheets in Greenland and Antarctica
(c) Understanding the sea level rise across the globe
(d) Bothband ¢
54.'‘Momentum for Change’ is an initiative of
(a) UN Climate Change secretariat
(b) UNEP
(c) World Bank
(d) UNICEF
55.Consider the following statements about Pradhan Mantri
Shram Yogi Maan-dhan (PM-SYM)
1.PM-SYM is a voluntary and contributory pension scheme.
2.1t was launched by Union Ministry of Finance.
3.The unorganised sector workers, with income of less than Rs
20,000 per month are eligible for the scheme.
4.If the subscriber dies during the receipt of pension, his or her
spouse will be entitled to receive 100 percent of the pension.
Which of the above statements is/are incorrect?
(@1,2,3
(b)2,3,4
(c)1,3
(d)1,2,3,4
56.Government of India launched a scheme “Transport and
Marketing Assistance (TM(a)” for providing financial assistance for
transport and marketing of agriculture products with a view to
boost export of farm commodities to certain countries in Europe
and which of the following continent?
(a) Antartica
(b) Asia
(c) North America
(d) Africa
57.Chatra, Sahibganj and Hazaribagh districts topped in the NITI
Aayog'’s list of Aspirational districts for the period of December
2018-January 2019.These districts belong to which of the
following State?
(a) Tamil Nadu
(b) Jharkhand

T FHAT g AIGT o7 318eT 2019-ATT 2020 'St
Iy e fomam?
(a) yeprer 3R gerer menia dieafafeat & ay
(b) TGz af
(c) T & ToIT Tdd 9ies & ay
(d) GoTgeT FT ay
5omé‘rﬁ@aﬂﬁaﬁéﬁmmgw%?
(a) FeTses famarsA
(b)
(c) STH=AT
(d) ekt
51 a1eieTel AT 3T araetaic eMarketplace (GeM) e gamT
Ao foram arr ar
(a) O FAT T
(b) 3THIFAT ATHAT ST HATAT
(c) Faramet 3R i Farera
(d) arforea 3R 3T ATer
52.8NfY -2019 earfaf@a & fora &or & i v wgea =
FHE?
(a) ARA 3R FaCr
(b) ¥R 3R g T4,
(c) AR IR &
(d) #1ReT 3R Y
53.7TT ¥ ICESat2 e FT e &
(a) FITS TR T T 3YTEATA &7 IdT 9T & forw
(b) Tl 31X 3ieThieaT & Mt arell St ST eI T ATATIAOT
(c) TaRa R & Ty & TR H Jefe I FHSTA
(d)bamcaﬁa’r
54, AHCH $IX <IoT' fore 61 Teh U5l &
(a) EFFT ASE ST YRectal
(b)WFFé‘ﬁ
(c) faea &=
(d) I E®
55.9¢1TeT FAY 437 AN AA-ET (PM-SYM) & IR 3 eafafad
FYUAT W TIR Y|
1 NTH-THATSTH Teh T 3R 37erlt 9o At &1
2.3 o fad #FTerT garT uRe foRar aram am
3. 31T &1 & AT&eh, ToleTehy 3 20,000 9 wid A1g & & &,
ratelT & T o E
4.3 ITge T GTod et o GRTeT AR SATAT 8, A 3T AT 38k it
&I 42Tt &1 100 FTTTRITT UTCT el &l §ehaR &1
SIRIFT HUAT H T DleT AT AT/ §?
(@1,23
(b) 2,3, 4
(c)1,3
(d)1,2,3,4
56%W#Wé€wé&ﬁ3ﬂ¢%ﬁ|ﬁr@aﬁﬁﬁm
HETEAT & HY TEG3HT & fer2iicd Y So1a1 & & foIw FY 3cqrar &
gRage 3T ¥ for R werar e e § o aRagsT
3R faUUTeT HERIAT(TM(a)” ST & T &1
(a) Terfeant
(b) wferaT
(c) 3o AT
(d) 3shreRr
57 <, Afgeaist 3R goameT el NITI Aayog T = 7 #erdt
TR R 2018-STTadY 2019 & 3rafer & forw vfeayerete foralt &1
Fﬁﬁ?|ﬁﬁﬁﬁﬁﬁ@ﬁﬁﬂﬁﬂﬂ$§?
(a)
(b) SRS
(c)q‘fa‘aww
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(c) West Bengal

(d) Maharashtra

58.Which city bagged the cleanest city award for third straight year
in Swachh Survekshan 2019 Awards in New Delhi?

(a) Indore

(b) Gauchar

(c) Ujjain

(d) Bhopal

59.Nobel Prize will be awarded twice this year for which of the
following category?

(a) Nobel Prize in Peace

(b) Nobel Prize in Economics

(c) Nobel Prize in Literature

(d) Nobel Prize in Chemistry

60.Google launched which of the following app to help children in
India with reading, comprehension skills?

(a) Study

(b) Read

(c) Bolo

(d) Skill

61.The government’s plan to setup National Medical Devices
Promotion Council, comes under which Ministry

(a) Ministry of Science and Technology

(b) Ministry of Health and Family Welfare

(c) Ministry of Commerce & Industry

(d)Bothaand b
62.Ultima Thule recently is news is related to

(a) Commercial Re-supply Service mission to the International
Space Station.

(b) New planet discovered by NASA.

(c) NASA’s new Mars lander.

(d) Trans-Neptunian object located in the Kuiper belt
63.Consider the following statements about National Mineral
Policy, 2019
1.1t addresses the issues of project affected persons especially
those residing in tribal areas.
2.1t proposes to grant status of industry to mining activity.
3.Creation of dedicated mineral corridors to boost private sector
mining areas.

Which of the above statements is/are correct?

@1,2

(b)2,3

(c)1,3

(d)1,2,3
64.Consider the following statements about Indo-Pacific Regional
Dialogue (IPRD).
1.1t was conceptualised by Unites States in 2017 as part of
Quadrilateral Security Dialogue.
2.The theme of this annual dialogue is a review of India’s
opportunities and challenges in the Indo-Pacific region.

Which of the above statements is/are correct?

(a) 1 only

(b) 2 only

(c) Both

(d) None
65.Betla National Park recently seen in news is located in

(a) Odisha

(b) Madhya Pradesh
(c) Jharkhand
(d) Telangana

(d) FERTSE
58%Hﬁwﬁwzo1gmﬁﬁmamaﬁw
Wa&%%@ﬂﬁ@wamwwm#

(a) $eRk

(b) IR

(c) Fooiat

(d) &rgrer

59,719 QLERR 38 a9 A & IR frg Ao & fore fear sream?
(a)arrﬁrw;ﬂasrw

(b)wamﬁmﬁw

(c) w%ﬂ:r:ﬁr;naaw

(d)wm?rﬁmiraﬁsr

60.Google ¥ TR 3 Todl &I IgeT, THS & Hierel & T
Fefatad & @ Sia a1 09 dieg fRar?

61.TSET FAIfhcdT 3UhoT Hatlel Rwe T TATIEAT o fIT TR T
ST foh HATAT o 3T e &
(a) faamet 3R ST FaTery
(b) TarEg 3 IRER SHedT0T Ao
(c) aTfOrear 3R 3eeT Hrer
(d)a3iRba=r N
62.37fccT Yot §Tel 1 7 FATAR § Fefa §
éa)aﬁvﬁﬂ 3ictfeT T o foT arforfoash qer: 3mqfel dar
T
(b) SATET SR WIS 31T 74T I |
(C) ATHT T T FHITA 5T
(d)wa—cﬁﬁuawﬁvdﬁuﬁaﬂaﬁrc

Gferer A1, 2019 & R F PeAfafld Fuar | FaR #¢
1%%&Wwﬁaﬁa@ﬁa’rﬁmﬁmﬁqﬁ?ﬂaﬂwﬁa

SITFAAT o Heal b HEITd FXAT &1
2.8 Telel T 3T T Gl Gel T TEATT HIAT 1
3.7 &7 & @eleT 8131 A Jerar & & folv gaAfia @iae arfeamst
aﬂul
SRed FTA H A RlTaT TR &/ &7
@1,2
(b)2,3
(c)1,3
@d1,2,3

64@&@?%%0%0)%@&#%@@33:@
R faar &<
131#2017:#%13@1—%@#%@@4@%@1&&%%
RS F 9 & S@r /T
2wmﬁ$mwﬁwm-qaﬂamﬁwa:mm
Aot T Gt )

SRITd FUA T A FT AT/ 2

(a) a1

(b) Faer 2

(c)amEt

(d) 16 7t N y
65.9ToIT 1RTeTol UTeh &Tel &1 H TATIRT 3 SWT 31T &, gl [Tqd ¢ ?
(a) 3nf3em

(b) AL war

(c) gREs

(d) de@mer

66.31FaY GIEdT 7 ¢ A, ersforas wress AR gwiaas

(a) AT Taegd TAAT 7 BRI & 0T GgeT § HFd AN |
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66.The compounds titanium carbide and hafnium carbide, often
seen in news, are:
(a) compounds released from incomplete combustion of coal in
thermal power plants.
(b) compounds which are extremely resistant to high
temperatures.
(c) compounds that can conduct electricity with no resistance.
(d) compounds which will improve the efficiency of shale gas
extraction.
67.International Labour Organization often seen in news is
(a) a division of the World Bank
(b) a specialized agency of the United Nations
(c) an international non-governmental organization
(d) a think tank sponsored by Department of Commerce, USA
68.In a pressure cooker food is cooked in shorter time because:
(a) the boiling point of water increases
(b) the pressure inside the cooker is lesser than the atmospheric
pressure
(c) larger amount of heat is available due to more surface area
(d) none of the above
69.With reference to Agni-V Missile, which of the following
statements is/are correct?
1. Itis a surface-to-surface missile.
2. ltis fuelled by liquid propellant only.
3. It has been developed under the Integrated Guided
Missile Development Program.
Select the correct answer using the code given below.
(a) 1 and 2 only
(b) 1 and 3 only
(c) 3 only
(d)1,2and 3
70.With regard to the characteristics of Human Rights as adopted
under Universal Declaration on Human Rights in 1948, consider
the following statements:
1. They are equal and non-discriminatory.
2. They entail both rights of an individual and obligations on
the State.
Which of the statements given above is/are correct?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
71.India is not a party to which of the following conventions?
1. Convention on Cybercrime
2. Convention Relating to the Status of Refugees
3. Domestic workers convention
Select the correct answer using the code given below.
(a) 1 and 2 only
(b) 2 only
(c) 3 only
(d)1,2and 3
72.With reference to Unified Payments Interface (UPI), consider
the following statements:
1. ltis a payment system that allows money transfer
between any two bank accounts using a mobile phone.
2. It has been developed by National Payments Corporation
of India.
3. Only the public sector banks have been allowed to use
UPI.
Which of the statements given above is/are correct?

(b) T A ST ITT 3T ATIATT & v e i gfaRredt &

(c) V& TR ST 191 Ticrer & faeg el o1 Hlefel T Hehd! & |

(d) T A Forerer Qrer 3 forand ot & &797aT 3 GuR g1
67,30 R 3 TE=T aTel 3eRTSET 4 Tatoe &

(a) T ¥F T TF THT

(b) TYFd ISE T Teh fIAT Totelr

(C) U&h IRATSERT I ALHNT FaTseT

(d) EFFT T HANHT & Arfrey fasmr ganr yraiford ve e &
satr?nmﬁaﬂaﬂwmﬁwm% Fife:

(a) ITeAY ST FAUATH 9¢ AT &

(b) T & 37eT T ST AGHSAT STd Y JoleT H HH Bl ¢ |

(c) T ISB &Y ST IoTg & AT T 378 AT 3Tt BT &1
(d) ST & & IS &

69.31735-V fAaTEe & T3 #, ool s & & Fla-avd a8

g7
1. Ig U HAg-H-Hcdg W AR &L dTel [AAS g1
2. g FI AL YUNGeH GaRT ATl Bl &1
3. gﬁuﬁmﬁﬁmﬁm@mm(lntegrated
Guided Missile Development Program) & dgd aetad
fram s 8
AT feT 91T e &1 T2A9T T Tl IR giAw:
(a) FaeT 1 3% 2
(b)ammms
(c) haer
(d)1, 231‘1?3

70.1948 # AGIAITSRT ST GraHif@es SYor-g= & 3ideTa 39T 7w
AAIHRY FT AATarst & desf #, Rafaf@a el ) R

1. 3 TH-TAT Ud IR-TaTIrE &
2 e T e e e, ) R
ST ot B & Y T B

) 1

(bypaer2

(c)1 AR 2 gt

(d)Tar1, g2

%ﬂgﬁmﬁ‘@am (FeaereT) H T foraent/fheter aRfiER
1. TSeR 39TY WX Fhed2eT (Convention on Cybercrime)
2. eRunfAt & Fufa & FEt&T F=a2rT (Convention

Relating to the Status of Refugees)

3. EC] HIHIR dedlel (Domestlc Workers convention)

g fgw It W T YT X HET 3R IfAT

(a) dae 1

(b) Shaer 2

(c) haer 3

(d)1,23R3

72 @WWW(UH F Hedt &, Peafof@a Faai )

1. %me%sﬁﬁh—aaﬁaﬁ%m%ﬂw
FNSTSeT HIeT T ST Ieh &eT GEATROT Y AT eTed

FAT 8
2. gHR AT TS AT {91 (NPCI) earT fashf@rd
T IRT )
3. Waﬁaﬁﬁma}?a‘lﬁaﬁumwmmﬁﬁ
HeTATA Y 1S &
Wmﬁ’rﬁﬁﬁawﬁa‘é‘r%ﬂ%?
(a) a1 3K 2
(b) shaer 2
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(a) 1 and 2 only
(b) 2 only
(c) 1 and 3 only
(d)1,2and 3
73.India is a founding member of which of the following?
1. International Labour Organization (ILO)
2. United Nations Commission on International Trade Law
(UNCITRAL)
3. Asian Infrastructure Investment Bank (AlIB)
Select the correct answer using the code given below.
(a) 1 only
(b) 1 and 2 only
(c) 2 and 3 only
(d)1,2and 3
74.Consider the following missiles:
1. Agni-V
2. Prithvi-ll
3. Nag
Which of the missiles given above is/are nuclear-capable?
(a) 1 and 2 only
(b) 2 and 3 only
(c) 3 only
(d)1,2and 3
75.Which of the following countries border the "Nine dash line"
situated in the South China Sea?
1. Vietnam
2. Japan
3. Philippines
Select the correct answer using the code given below.
(a) 1 only
(b) 1 and 3 only
(c) 2 and 3 only
(d)1,2and 3
76.Which among the following gases is/are used as chemical
warfare agents?
1. Mustard gas
2. Sarin
3. Phosgene
Select the correct answer using the code given below.
(a) 1 only
(b) 2 only
(c) 2 and 3 only
(d)1,2and 3
77.Microwaves are a form of electromagnetic radiation. They are
used for which of the following purposes?
1. Radar systems
2. Night Vision apparatus
3. Cooking food
Select the correct answer using the code given below.
(a) 1 and 2 only
(b) 1 and 3 only
(c) 3 only
(d)1,2and 3
78.Concave lens is used for correction of which of the following
eye defects?
1. Myopia
2. Hypermetropia
3. Pressbyopia
Select the correct answer using the code given below.
(a) 1 only

(c) Faer 1 3R 3
(d) 1,233
73.9Rd Rt f@d & & fha/fhe Geroa/T9Ta=11 &1 Teh TEATIH
TEET B8 ?
1. HRTSET 537 IS (ILO)
2. RIS SATIR Flefed T HIF TSSHTANRT (UNCITRAL)
3. TR SHRCFR S-aTcHT 9 (AlIB)
& feU 91T e T FGI9T T HET 3T bl T Sl
(a) Fael 1
(b) Faer 1 31K 2
(c) Faer 23R 3
(d)1,23R3
74.F=Ifai@d el ) faar fife:
1. @AV
2. trz-q°r||
3.
Wﬁmﬁﬁmmwmﬁmﬁﬂm%@?
(a) Faer 1 31X 2
(b) Faer 2 31k 3
(c) haer 3
(d)1,233
75.fAFAtaf@d & @ Sla-and 2 gfaoT e @R & ud "drgeT 3T
A" T HHAT TATAT/TATT 8/8?
1. faadems
2. ST
fepeiidier
mﬁmmwwmwaﬁwwwﬁm|
(a) Fael 1
(b) haer 1 3R 3
(c) haer 2 3 3
(d)1,23R3
76%::11%11@3:#@%@%/@@1’&%@@3%@3#
SgeFcl T STl 8/87?
1. Arsg
2. et

Bl
mﬁmmmwmmmﬁmaﬁm
(a) Fadl 1
(b) shaer 2
(c) Faer 2 3R 3
(d)1,23k3
773413@?—5 faegd greshrg fafehor &1 weh &9 81 I fetfai@d
irﬂﬁiqmm%u/mm’r%?rwaﬁrm%?
1. R Awes
2. AT3c TasTe 3UhIOT (TUeH)
3. AT T H
AR fET 91T e T TA/T A TET 30 N TTe Il
(a) Faer 1 37 2
(b) haer 1 3R 3
(c) a3
(d)1,23R3
78.379de o/F (Concave lens) & 93197 f=ifaf@a & & fFg o
SI/2TST T TN (FUR) T & ForT fomam Sirar 872
1. e e & (Myopi(a)
2. &¥ TS Q1% (Hypermetropi(a)
SIT-qI€ ST (Pressbyopi(a)
mﬁmmmwmmmﬁmaﬁv
(a) hae 1
(b) Faer2 3R 3
(c) daer 131X 3
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(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

79.With reference to filing of a Public Interest Litigation (PIL) in the
Supreme Court, consider the following statements:

1. A PIL can be filed only if the concerned party is directly
subjected to an adverse effect by the statute or action in
question.

2. A PIL cannot be filed for matters dealing with early
hearing of petitions in lower courts.

3. Suo-motu PIL by the Supreme Court itself is not allowed.

Which of the statements given above are correct?

(a)2 only

(b)1 and 3 only

(c)1,2and 3

(d)1 and 2 only

80.Which among the following body fluids in a healthy human
being is/are basic/alkaline in nature ?

1. Blood

2. Gastric juice

3. Bile

Select the correct answer using the code given below.

(a) 1 only

(b) 1 and 3 only

(c) 2 and 3 only

(d)1,2and 3

81.Double Fortified Salt is one of the most cost-effective
opportunities to deliver critical micronutrients. Which among the
following micronutrients are fortified to table salt?

1. lodine

2. lron

3. Chromium

Select the correct answer using the code given below.

(a) 1 only

(b) 1 and 2 only

(c) 1 and 3 only

(d) 2 and 3 only

82.Shell companies, recently seen in news, are:

(a)corporations that do not have any purpose and are left to age.
(b)corporations without any active business operations or assets.
(c)corporations that are temporarily shut down during recession.
(d)corporations that are located in tax havens only.

83.Which among the following countries are the members of Asia
Pacific Trade Agreement?

1. India

2. United States of America
3. Russia

4. China

Select the correct answer using the code given below.
(a) 1 and 4 only
(b) 2 and 3 only
(c) 1,2 and 3 only
(d) 1, 3 and 4 only
84.Consider the following statements regarding virtual reality (VR)
and augmented reality(AR) :
1. The real and virtual objects cannot be distinguished in
VR whereas they can be distinguished in AR.
2. Both VR and AR can be viewed by users wearing special
glasses only.
Which of the statements given above is / are correct?

(d) 1,23R3
79.gafea Wﬁaﬂﬁ%ﬁmﬁﬂ(PlL)Wmé?mﬁﬁ
fAfef@a s« ) faar fifae
1. WP|LWaaﬁw£raTW%aawﬁaw
R HIeeT AT HIFATE! W TcI&T: Ficlhel & & FeTfaet

g
2. PIL el srererdt 3 Frfaeniait 1 ofver gerars & deferd

HATAGT & foIT R 8T T T bl
3. IIITerd I PIL 9T FeAdTs il § qd TIHeseal
TRIFIRAT 3 THATTONRAT T HeATd X T TRT)
3G HYAT A J FleT-T TE &2
(a) Fawr 2 3k 3
(b) Faer 13k 3
(c) 1,233
(d) Saer 132

80.FaFY IS H rafafld 7 & fova/fnet aTeY wofssd (body
fluids) @r‘;ﬁﬁf &I gl 872

1. & (Blood)

2. N 57H (Gastric juice)

3. fd (Bile)
A feT 97T e T YT T FEY IR AT
(a) a1
(b) Saer 133
(c) Haer 2 3K 3
(d) 1,23R3
81 mq'u‘rl-'l?ﬂ?tl’lwa_@r (micronutrients) T 3qfdd H & ferw
EECl S TTeT (FHe) HaTUE aeTd TTaT 3aadt 3 & U 8§
A 7 Hl fAFAfoi@d 7 I faheT G&H 9o deal ¥ BIfEhIss
R STar g2

1. TEEA

2. dlg d<d (3eT)

HifFTa

mﬁmmmwmmmﬁmaﬁm

(a) a1

(b) Saer 132

(c) aer 133

(d) Faer2 3R 3 .

82.Tcl & 7 THTIRI # & 3T el FafaAdl (Shell companies) FT

g2

(a) T FFAfAT/ AT ATt FIS e T 76T & 3R fSeg o
Jafer & fov ors feam Srar & .

(b) U FHEATAGT/AITH TS IS Hishar SITIR HelTeleT AT
gRgeafaar

SR

g:) VT FEafaar/foera St 7Y & gRIeT 3EUrl §9 & §¢ 7 & ST
|
é% ﬂgﬁ FFAfATT/fATH S haol TFT-gdd (tax havens) & 3afeyd

|
83.=1faf@a & & Fla-T a1 iy weng saar @#siia (Asia
Pacific Trade Agreement) & TETT &7

1. #RA

2. HYF U IARH

3.

4. A=A
AT fT 3TV e T yATeT I HET IR YA
(a) Faer 13 4
(b) aer2 3R 3
(c) aer 1,233
(d) &aer 1,334
84mﬂ¢ﬁmﬁm(aémmﬁ-a VR) 3R Faftia aredfasnar
(3RS Rafad: AR)%Wﬁ%mﬁ@amﬁwWaﬁﬁm
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(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

85.Consider the following statements regarding Quick Response
code (QR code):

1. Itis two dimensional code and hold information both in
vertical and horizontal directions.

2. The maximum amount of information that can be stored
on a QR code is less than that on a barcode.

3. It can be used to send an email, sms or holding business
cards.

Which of the statements given above is/are correct?

(a) 1 only

(b) 1 and 3 only

(c) 2 and 3 only

(d)1,2and 3

86.Which of the following are the parameters used by UN to
compute the World Happiness Report?

1. GDP per capita

2. Life expectancy

3. Freedom to make life choices

4. Freedom from corruption

Select the correct answer using the code given below.

(a) 1 and 2 only

(b) 1,2 and 4 only

(c) 3 and 4 only

(d)1,2,3and 4

87.The Interpol"s Red notice,often seen in news, issued to:

(a) seek the location and arrest of wanted persons with a view to
extradition.

(b) help locate missing persons, often minors.

(c) seek information on unidentified bodies.

(d) seek information on modus operandi and devices used by
criminals.

88.In the context of gravitational force and electromagnetic force,
consider the following statements:

1.  While gravitational force is always attractive,
electromagnetic force can be both attractive and
repulsive.

2. While gravitational force is only dependent on mass,
electromagnetic force is dependent on both mass and
charge.

3. While gravitational force is dependent upon the distance
between the two bodies, electromagnetic force is
independent of it.

Which of the statements given above is/are correct?

(a)1 only

(b)2 and 3 only

(c)1 and 3 only

(d)1,2and 3

89.Which of the following vitamins are soluble in fat?
1. Vitamin A

2. Vitamin B
3. VitaminC
4. Vitamin E
5. Vitamin K

Select the correct answer using the code given below.
(a) 1, 2 and 3 only
(b) 2 and 3 only

1. VR # aredfash ud 3l aeqsit 7 fasie et femar S
TehaT STaf AR 3 faeie fram S Tehar &)
2. VR UG AR Gl &I 3UATHAT3T GaRT [AAT TRAT  Tgeiet
&1 QT ST TehaTT &)
3G HYAT H § HiT-AVA TEY 8182
(a) Fae 1
(b) aer 2
(c) 13k 2=t
(d) AAT1TE2
85.fFas REIE F13 (QR F8) & T H fAeATolid FUer W TIR
1.  IE f3-3mare 1S § 3R 38 Feaner iR difas ger
fem3it 3 Faem afFAfaa B &
2. QRWWW@WWWW@F@WW
W@WW%WWMW@W?W%
|
3. TP 3YINT SHA TG SMS STt T 9ol s 18 @ &
ToIT fohaT ST GahaT &1
mﬁwsfrﬁaﬁﬂwﬂwé’r%/%?
1

a
b
c
d

) 1,23R3
seﬁmﬁﬁaﬁﬁaﬁaﬁaﬁma—émﬁ%aﬁm
Wﬁmﬁwmmmm%’)

® g safed GDP

2. KICGR IR

3. Shiae [Asheq 9T T Tad=dr

4. TR ¥ TqdTdr
mﬁﬁvmwwmmmﬁmaﬁm
(a) a1
(b) Fae 1, 23#114
(c) Fael 3 3 4
(d) 1,2, 33R4
87.9T: TAT & {§=) dTell Uil &bl 18 Afed Aafai@a 5 9 g
e S famar Srar 82
(a) TeAYOT F TREHIVT I FIfSd safra T FEATT &7 IdT ooy 3R
TRFIRY 3 & o
(b) ITIAT S, U IAITRT, T IdT of9TTel H TEIAT & o7
(c) 3r=Tc AR & TR F FAAT AR o forw
(d) mﬁﬁmwﬂmﬁrsﬁww%mﬁm
AR & forT
SSW@TWWWWW%W%# IGLSIGICR]

(a)FaeT 1
(b)aer 2 3K 3
(c)hraer 1 31X 3
(d)1,2 3R 3
89.faf@aa & O Fi9-3 fFarfas aar e §2
1. faf@aaA
2. fQef@sB
3. fafdac
4. A= E
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(c) 1,4 and 5 only
(d) 2,3 and 5 only
90.In the context of international trade, which of the following
indicates dumping?
(a)Export price of goods to one country is lower than export price
of the same good to other countries.
(b)Export price of goods to a country is lower than the importing
country’s domestic market price of a similar good.
(c)Export price of goods is less than the cost of production in the
exporting country.
(d)Export price of goods to one country is higher than export price
of the same good to other countries.
91.India is a member of which of the following international
organizations?

1. International Court of Justice

2. International Criminal Court

3. Permanent Court of Arbitration
Select the corret answer using the code given below.
(a)1 only
(b)1 and 3 only
(c)2 and 3 only
(d)1,2and 3
92.Which of the following best describes Dark Fibre?
(a)ltis a fibre derived from the cocoons of silk worm found on
Mulberry Tree.
(b)lt is an unused optical fibre that has been laid but is not
currently being used in fibre-optic communications.
(c)lt is a type of optical fibre which propagates signals only in
invisible band of spectrum.
(d)lt is a type of fibre used in solar panels to improve absorption of
photons.
93.With reference to VVPAT (Voter Verifiable Paper Audit Trail)
machines, consider the following statements:

1. Slips generated by these machines can be taken back by

voters for verification.
2. The slip generated contains the poll symbol and name of
the candidate for whom the vote is cast.

Which of the statements given above is/are correct?
(a)1 only
(b)2 only
(c)Both 1 and 2
(d)Neither 1 nor 2
94.Which of the following ordinance is approved by president Ram
Nath Govind to restore 200 point roster system for faculty
recruitment ?
(a) Government of India Educational Institutions (Reservation in
Teacher’s Cadre) Ordinance 2019
(b) Central Educational Institutions (Reservation in Teacher’s
Cadre) Ordinance 2019
(c) Central Educational Institutions (Employment in Teacher’s
Cadre) Ordinance 2019
(d) Educational Institutions (Reservation in Teacher's Cadre)
Ordinance 2019
95.Which of the following processes is/are examples of chemical
reactions?

1. Burning of wood

2. Melting of ice

3. Rusting of Iron
Select the correct answer using the code given below.
(a)1 only

5. fEafAa K
=AY ST G191 T HET 3o AT
(a)Faer 1,2 3R 3
(b)amrzaﬂts
(c)haer 1,4 3R 5
(d)WZ 335
R & Heat 7, Arafaf@a & 9 wia-ar s #r
sﬁam%‘? . ,
()T &er g aE3HT 1 AT #Hed, 38 av & 37 St &t
:H—zraﬁramﬁw%
(bﬁﬂfr%er%?ra—&raﬁamﬁuﬁam SE TR 1 ] ] ITATTh
aaravaiﬁwmﬁamﬁw%
(c)ar\é-—crsﬁwﬁuﬁ?rw %ﬁwé&rﬁmaﬁrﬁmmﬂ
Eor=)
(d)Teh &2 & foT aEg3it &1 i #ed, 32 2311 g T g &
Hed A 3T &)
91.9Rd TR FRTSET TSt & & Fra/Rhet Torast/aarest
ww%/%’
ST

2. IRRTSERT ORI =TT

3.  TYRT ALIEYCT (Arbitration) =JTdTeld
AT fT TV e T FATET Y HET 3R YA
(a)haeT 1
(b)eaer 1 3R 3
(c)hraer 2 31X 3
(d)1,23R3
92.fAFfaf@d & & - [Ahed 3716 Brgav &1 Falcadd T I
T AT 872
(a)TE BT & J&T IR UTT STed dlel IAH FHIT & Hlgheil F cGcToal
o (PIER) Bl &
(b)wwwaﬁww%mqﬁﬁﬁww%ﬁm
AT F FIgeR-311TCeeh TR # SHEHT 3TN 787 AT ST @ e
(c)TE 3iifCeehol BTSSR HT Teh YR & St hdol TIFCH b AT a5 F
Tehdl ol HARK ol & |
(d)Tg ER HeTell & HIeir & IFMTUT H FUR Hel & foIT 3uer
TR SiTeT dTel HISeR T Ueh YR g1
93.VVPAT (atex aRfhuerer IwR 3iif3e ¢or) 7eleT & Teel &,
rAff@d Y= W faar Hifew:

1. g1 ANl GERT GcUeet YTl HACIAIHT GART HedTdeT o

fore |rer o ST o \ehel &1
2. U Ul # 3 3FAIGAR &1 gaATd e 3R A grar
¥To 7 R s

3REd HUAT A & Hla-and TEr 87
(a)FaeT 1
(b)mz
(c)1 3R 2 =T
(d;ra’m;ré’rz
94.frAfafld 7 & farer sreareer &1 aseufa T7 1y Ffde F Fr
§1clt & forw 200 foig IeeT JoTTell st SgTel et & forw FHopd & 87
(a) IR TIHR ¢ TEATST (FRNaTa TaeT 3 TETOT) 3rearer 2019
(b) FEr Afares TEATeT (RaTeh Fael 7 IREToT) 3reareer 2019
(c) FEr e TxTeT (FRreTer Tt & AseTR) 3reareer 2019
(d) Afares FEaTeT (fNaTen FaeT # IRETOT) IHEAGer 2019
95.FAffld 7 & Fia-Hr ufhar/afsrart Tarfes ARt
3ETER0T 8/?

1. SISS FT cgel

2. % 1 e

. olIg IR ST ofITeT
mﬁmmwwmwaﬁrwaﬁm
(a)dhae 1
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(b)2 and 3 only

(c)1 and 3 only

(d)1,2and 3

96.Uniting for Consensus Group, sometimes seen in news, is
related to:

(a)complete nuclear disarmament under United Nations.
(b)consensus on climate change in UNFCCC.

(c)consensus on non-discriminatory trade practices in WTO.
(d)expansion of United Nation Security Council.

97.Marayoor jaggery gets Geographical Indication (Gl) tag from
the central government recently.It belongs to which of the
following district?

(a) Chittoor,Andhra Pradesh

(b) Purba Medinipur,West Bengal

(c) Idukki,Kerala

(d) Kodagu,Karnataka

98.Who released the book Dictionary of Martyrs of India’s
Freedom Struggle (1857-1947) in New Delhi?

(a) Ram Nath Kovind

(b) Narendra Modi

(c) Venkaiah Naidu

(d) Arun Jaitley

99.With reference to development in science and technology,
Botnet is a:

(a)collection of internet-connected devices that are infected and
controlled by a common type of malware.

(b)malicious computer program which is used to hack into a
computer by misleading users of its true intent.

(c)robot capable of learning with past experiences and making
decisions on its own.

(d)solar-powered drone for providing internet access to remote
areas.

100.Consider the following pairs:

Report Published by
1. Asian : AllIB
Development

Outlook

2. Corruption Transparency
Perception Index International

3. World Economic: IMF

Outlook Report

Which of the pairs given above is/are correctly matched?
(a)2 only

(b)2 and 3 only

(c)1,2and 3

(d)1 and 3 only

(b)daer 2 3K 3

(c)daer 133

(d)1,2 3R 3

96.THTAT ¥ F3iY-F0 3T =Y AT YATSREAT PR e I
(Uniting for Consensus Group)ﬁmﬁ'@ﬁﬁﬁmmﬁ%
(a)EgF ISE & HANT Yo7 IRATY] TR ThoT A
(b)UNFCCC*WWWWWWﬁW@l
(C)WTO  IR-Sgamrayo’ sgriR deufral oX 31 HeAta ¥
(d)ErgeFeT T1Sg FRET TRE & e A

97 FHIIX 3 1 gTel &1 & g TRHR T SilaNToreh Tavel (SNITS) Ea1
e &1 78 eearad & & fra foer #r g

(a) =R, 3Ter weer .

(b) IXET ARG, IR Sarer

(c) 35T, el

(d) =T, Fellew

98,7 FEoell 3 31t ¥ TacidT HaH & 2rdiel i e
(1857-1947) &1 AT frger fraT?

(a) T AT FIfdg

(b ) T HIEY

99mmm@rﬁm$mm gicaie (Botnet) FaT 872
(a)HTH= FHR & AT G@NT FohfAd 3R ffa seoe a3
3YHIOT T TAE |
(bmmmﬁmmmﬁﬁamﬁ%
HEeThR Tehdl ST I geh el & TeTT ST fohaT SATeT

%*
(o)t 3reTeral @ e 3R T AT oot 7 GarA Vel
mgﬁmﬁmmmaﬁﬁtmm

100.AFIfATET oAt R AR AfSw
Raé ZaRT TFIAT

1. TR 3goludc 3M3eass  :  AlB

2. ¥SCTAR e Fahich Ay
(Corruption Perception EeTeAeleTel
Index)

3. g;é_é SRS HBeeqh  : IMF
3ugerd ZIAT H § HioT-A1A FET GATT 2872
(a)Fae 2
(b)ehaer 2 3R 3
(c)1,2 33
(d)Faer 131X 3
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